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6HVVLRQ�2QH� 
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6HVVLRQ�)RXU� 
 
7KLV�VHVVLRQ�SUHSDUHV�VWXGHQWV�WR�GHYHORS�FUHDWLYH�DQG�LQQRYDWLYH�VROXWLRQV��XVLQJ�D�YLVLRQLQJ�FKDOOHQJH�WR�

GHVLJQ�D�WUDQVSRUW�V\VWHP�IRU������ 
 
2XWFRPHV 

Pupils evaluate creative and innovative solutions.  

Pupils develop critical thinking and problem solving. 

 

$FWLYLWLHV 
 

Starter 
1. Show the question on Slide 20. Encourage students to think as widely as they can and activate their homework 
research. Ask students to think about ZKDW could make transport change and KRZ it could change. 
2. Display the PESTLE acronym on the whiteboard and use the PESTLE framework in your questioning e.g. What 
political or economic reasons might make transport change? What opportunities might technology bring?   
 
Main (students complete mini-challenge using a visioning activity) 
3. Place students into groups and direct them to Activity Six, which is a visioning mini-challenge. Students read the 
mini-challenge and complete the brainstorming activity on the worksheet. 
 
Development 









6WXGHQWV�PD\�ILQG�WKDW�ZKHQ�WKH\�VWDUW�WKLQNLQJ�DERXW�RQH�IDFWRU��WKLV�LQ�WXUQ�LQIOXHQFHV�DQRWKHU�IDFWRU��

)RU�H[DPSOH��DQ�HQYLURQPHQWDO�FRQVLGHUDWLRQ�FDQ�DOVR�DIIHFW�KHDOWK��ZKLFK�LQ�WXUQ�FRXOG�KDYH�DQ����������

HFRQRPLF�DIIHFW�� 

 

Examples of PESTLE factors on building a cycle route to school. 

 

 

3olitical Reduces congestion. 
Could require changes to road infrastructure, which would affect   
residents and businesses. 
Political pressure to make transport less reliant on hydrocarbons. 
Political incentives to improve health for young people. 

(conomic Walking is free. 
Reducing burden caused by unhealthy lifestyles. 
Promoting business for the local bike shop. 
Cyclists and walkers more likely to use local shops and services. 
Ability of parents to raise funds for buying a bike and safety gear. 
Cost of providing infrastructure and resources: e.g. building paths,  
bike storage. 

6ocial Promotes independence of young people. 
Regular exercise reduces obesity and improves health outcomes for 
young people and others. 
Road accidents kill 1.2 million people globally each year. 
Saves on health costs of sedentary, car-based lifestyles. 
Young people arrive at school alert and ready to learn. 
Improves access for wheelchair users. 

7echnological Equipment required to design safe and comfortable routes. 
Students will need to have access to bikes if they wish to cycle. 
Possible new cycle designs that could be developed. 

/egislative Health and safety procedures. 
Environmental laws could affect where the route can be planned. 

(nvironmental Less air and sound pollution. 



 



*XLGDQFH�DURXQG�JUDSK�RQ�6OLGH����RI�3RZHU3RLQW 

4XHVWLRQV�UHIHU�WR�WKH�TXHVWLRQV�RQ�WKH�VOLGH�IRU�VWXGHQWV� 

Question 1: The diagram suggests that oil reaches a peak of production around 2020 and then becomes rarer and more 
expensive.     
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